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Series Combination of Resistors
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Series Combination of Resistors

The equivalent resistance of any number of resistors connected in series is the sum
of the individual resistances.

N
Req :Rl +R2 + - _l_RN:ZRH
n=1

O

RE-q:R] _l_Rg

b




Voltage Division Rule
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Parallel Resistors

Node b

ForV=10V; R, =70Q, R, = 3Q, The value of i ? — = :
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Parallel Resistors

Node b
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Current Division Rule
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Voltage & Current Division Rule




Mathematical Examples

Find R, for the circuit shown in Fig. ° 0
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Mathematical Examples

3 X6

Calculate the equivalent resistance R, in the circuit 3060 = — 20
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Wye-Delta Transformations

(a) (b)
Two forms of the same network: (a)
(b) IT.

(b)
Two forms of the same network: (a) Y, (b) T.




Delta to Wye Conversion




Delta to Wye Conversion

Convert the A network in Fig. to an equivalent Y network.




Delta to Wye Conversion
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Wye to Delta Conversion
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Circuit Solve

Obtain the equivalent resistance R, for the circuit in Fig. 2.52 and use

it to find cwrrent 7.
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Circuit Solve

METHOD-1
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Circuit Solve
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Circuit Solve

v, 120
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= 12458 A
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